On a population model with nonlinear boundary conditions arising in ecosystems

S.H. Rasouli

Abstract

In this paper we study a model of population which is described by positive solutions to the nonlinear boundary value problem

$$\begin{cases} -\Delta u = au - bu^2 - c\frac{u^2}{1 + u^2} - \epsilon, & x \in \Omega, \\ \mathbf{n} \cdot \nabla u + g(u) = 0, & x \in \partial \Omega. \end{cases}$$

Here Ω is a bounded smooth domain of \mathbb{R}^N , Δ is the Laplacian operator, *a*, *b*, *c*, ϵ are positive parameters and $g \in C^1([0,\infty), [\theta,\infty))$ is decreasing for some $\theta > 0$. This model describes the dynamics of the fish populations. Our existence results are established via the well-known sub-super solution method.

1 Introduction

In this paper we study the following population model with nonlinear boundary conditions:

$$\begin{cases} -\Delta u = au - bu^2 - c \frac{u^2}{1 + u^2} - \epsilon, & x \in \Omega, \\ \mathbf{n} \cdot \nabla u + g(u) = 0, & x \in \partial\Omega, \end{cases}$$
(1)

where $\Omega \subset \mathbb{R}^N$ is a bounded domain with sufficiently smooth boundary and $N \geq 1$, Δ is the Laplace operator, *a*, *b*, *c*, ϵ are positive parameters and $g \in C^1([0, \infty), [\theta, \infty))$ is decreasing for some $\theta > 0$.

Received by the editors in August 2016 - In revised form in September 2018.

Communicated by D. Bonheure.

²⁰¹⁰ Mathematics Subject Classification : 35J55, 35J65.

Key words and phrases : Population model; Nonlinear boundary conditions; Subsupersolutions.

(1) arises from population biology of one species. Here *u* is the population density and *aubu*² represents logistics growth. This model describes a logistically growing species with grazing of a fixed number of grazers and constant yield harvesting (see [10, 11]). The assumptions are that the ecosystem is spatially homogeneous and the herbivore density is a constant. The rate of grazing is given by $\frac{u^2}{1+u^2}$. In addition, most ecological systems have some form of predation or harvesting of the population. For example, hunting or fishing is often used as an effective means of wildlife management. Here ϵ is the rate of the harvesting distribution. This model has also been applied to describe the dynamics of fish populations (see [13, 14]). In such cases, the term $\frac{u^2}{1+u^2}$ corresponds to natural predation.

In the literature, the homogeneous Dirichlet boundary condition, u = 0; $\partial\Omega$, Neumann boundary condition, $\frac{\partial u}{\partial n}$; $\partial\Omega$, and linear combinations of the two aforementioned boundary conditions (known as a Robin boundary condition) have been employed almost exclusively in reaction diffusion population models. Use of linear boundary conditions assumes that the behavior of the population on the boundary is independent of the population density itself. However, ecologists have reported density dependent emigration rates from patches of habitat. Empirical studies conducted by several ecologists have even shown a negative correlation between density and emigration rates, in which animals have a tendency to leave a patch when density is low and stay in the patch when it is high. This fact brings into question a commonly made assumption in ecology, that animals unilaterally exhibit positive density dependent dispersal and patch emigration (see [12, 15, 16]).

The motivation for this study cames from the work in [2] where the authors established the existence of positive solutions to such problems with Dirichlet boundary conditions. Hence, the main purpose of this paper is to initiate extension of their results to the nonlinear boundary conditions. Here, g(u) represents the population that remains on the boundary when reached. One can refer to [4, 5, 6, 8, 9] for some recent existence results of population models.

2 Main results

In this section we give our main results. First we prove some nonexistence results.

Theorem 2.1. Let $\eta = \inf_{u \in [0,\infty)} g(u)$. Then there is a constant a^* , such that (1) has no positive solution for $a \leq a^*$.

Proof. Let $\mu_1 > 0$ and $\phi > 0$ be the first eigenvalue and corresponding positive eigenfunction of

$$\begin{cases} -\Delta \phi = \mu_1 \phi, \quad x \in \Omega, \\ \mathbf{n} \cdot \nabla \phi = -\phi, \quad x \in \partial \Omega. \end{cases}$$
(2)

Define $a^* = \min\{\mu_1, \eta b\}$. For $a \le a^*$, multiplying (1) by ϕ , and integrating over Ω , we obtain

$$\int_{\Omega} (-\Delta u)\phi dx = \int_{\Omega} (au\phi - bu^2\phi - c\phi \frac{u^2}{1 + u^2} - \epsilon\phi) dx.$$

But by Green's identity we have

$$\int_{\Omega} (-\Delta u)\phi dx = \int_{\Omega} (-\Delta \phi) u dx + \int_{\partial \Omega} (\frac{\partial \phi}{\partial n} u - \frac{\partial u}{\partial n} \phi) ds$$
$$= \int_{\Omega} \mu_1 \phi u dx + \int_{\partial \Omega} (\phi g(u) - \phi u) ds.$$

Thus we have

$$\int_{\partial\Omega} (\phi g(u) - \phi u) ds = \int_{\Omega} \left[(a - \mu_1) u \phi - b u^2 \phi - c \phi \frac{u^2}{1 + u^2} - \epsilon \phi \right] dx.$$
(3)

Since $a < \mu_1$, we can see that the right-hand side of (3) is negative. By the maximum principle, we know that $||u||_{\infty} \leq \frac{a}{b} < \eta$ which gives

$$\int_{\partial\Omega} (\phi g(u) - \phi u) ds = \int_{\partial\Omega} (g(u) - u) \phi ds > 0,$$

and by this contradiction Theorem 2.1 is proven.

Theorem 2.2. Let $a > a^*$, b > 0 and c > 0 be fixed. If

$$\epsilon > \frac{a(a-\mu_1)}{b},$$

then (1) has no nonnegative solution.

Proof. From (3) we obtain,

$$\epsilon \int_{\Omega} \phi dx \leq (a - \mu_1) \int_{\Omega} u \phi dx \leq \frac{a(a - \mu_1)}{b} \int_{\Omega} \phi dx,$$

a contradiction when (4) holds.

Next, we shall establish our existence results via the method of sub and supersolutions. By a sub-solution of (1) we mean a function $\psi : \overline{\Omega} \to \mathbb{R}$ satisfying:

$$\begin{cases} -\Delta \psi \le a\psi - b\psi^2 - c\frac{\psi^2}{1+\psi^2} - \epsilon, & x \in \Omega, \\ \mathbf{n} \cdot \nabla \psi + g(\psi) \le 0, & x \in \partial\Omega, \end{cases}$$
(4)

and by a super-solution of (1) we mean a function $Z : \overline{\Omega} \to \mathbb{R}$ satisfying:

$$\begin{cases} -\Delta Z \ge aZ - bZ^2 - c\frac{Z^2}{1+Z^2} - \epsilon, & x \in \Omega, \\ \mathbf{n} \cdot \nabla Z + g(Z) \ge 0, & x \in \partial \Omega. \end{cases}$$
(5)

By strict sub and super-solutions we understand functions ψ and *Z* for which strict inequalities (4) and (5) hold.

It is well known that if there exist sub and supersolutions ψ and Z respectively of (1) such that $\psi \leq Z$. Then (1) has a solution u such that $u \in [\psi, Z]$ (see [1, 7]).

Theorem 2.3. Let b > 0 and c > 0 be fixed. Then there exist positive constant a_* and ϵ^* such that (1) has a positive solution for $a > a_*$ and $\epsilon < \epsilon^*$.

Proof. Let λ_1 is the principle eigenvalue for Laplace's equation with Dirichlet boundary conditions. From an anti-maximum principle (see [3]), there exists a $\sigma > 0$ such that the solution z_{λ} of

$$\begin{cases} -\Delta z - \lambda z = -1, & x \in \Omega, \\ z = 0, & x \in \partial \Omega. \end{cases}$$
(6)

for $\lambda \in I = (\lambda_1, \lambda_1 + \sigma)$, is positive for $x \in \Omega$ and is such that $\frac{\partial z_\lambda}{\partial n} < 0$ for $x \in \partial \Omega$, where *n* is outward normal vector at Ω . Let $\alpha_\lambda = ||z_\lambda||_{\infty}$, $m_\lambda = \inf\{m : \frac{\partial(mz_\lambda)}{\partial n} \le -g(0) - 1\}$, and $a_* = \inf_{\lambda \in I} \max\{2\lambda, 2(b+c)m_\lambda \alpha_\lambda\}$. For $a > a_*$, we can choose $\lambda^* \in I$ such that $a > \max\{2\lambda^*, 2(b+c)m_{\lambda^*}\alpha_{\lambda^*}\}$. For $\gamma \ge 1$, let

$$K = \frac{(a - \lambda^*)\gamma \alpha_{\lambda^*} + (\gamma - 1)}{(b + c)\gamma^2 \alpha_{\lambda^*}^2}$$

First, we state and prove an important claim:

Claim. If $a > \max\{2\lambda^*, 2(b+c)m_{\lambda^*}\alpha_{\lambda^*}\}$, then

$$\frac{m_{\lambda^*}}{\gamma} < \min\{\epsilon, \frac{a}{2\gamma \alpha_{\lambda^*}(b+c)}\}.$$

To prove the claim, we note that $\frac{m_{\lambda^*}}{\gamma} < \frac{a}{2\gamma \alpha_{\lambda^*}(b+c)}$ follows from $a > 2(b+c)m_{\lambda^*}\alpha_{\lambda^*}$. Now, since $a > 2\lambda^*$, $a > 2(b+c)m_{\lambda^*}\alpha_{\lambda^*}$, and $\gamma \ge 1$, the following are true:

$$\begin{split} &\frac{a}{2} - \lambda^* > 0, \\ &a\alpha_{\lambda^*} - \lambda^* \alpha_{\lambda^*} - \frac{a}{2} \alpha_{\lambda^*} > 0, \\ &a\alpha_{\lambda^*} - \lambda^* \alpha_{\lambda^*} - m_{\lambda^*} (b+c) \alpha_{\lambda^*}^2 + 1 > 1, \\ &(a\alpha_{\lambda^*} - \lambda^* \alpha_{\lambda^*} - m_{\lambda^*} (b+c) \alpha_{\lambda^*}^2 + 1) \gamma > 1, \\ &(a - \lambda^*) \gamma \alpha_{\lambda^*} + \gamma - 1 > m_{\lambda^*} (b+c) \alpha_{\lambda^*}^2 \gamma. \end{split}$$

Hence

$$K = \frac{(a - \lambda^*)\gamma \alpha_{\lambda^*} + (\gamma - 1)}{(b + c)\gamma^2 \alpha_{\lambda^*}^2} > \frac{m_{\lambda^*}}{\gamma}.$$

which prove the claim.

Next, let $\epsilon^* = \min\{\epsilon, \frac{a}{2\gamma \alpha_{\lambda^*}(b+c)}\}$. Now for $\epsilon < \epsilon^*$ there exists a l_c such that

$$\max\{\epsilon, \frac{m_{\lambda^*}}{\gamma}\} < l_c < \epsilon^*.$$

Define $\psi = \gamma l_c z_{\lambda^*}$. A calculation shows that

$$-\Delta \psi = -\Delta(\gamma l_c z_{\lambda^*}) = \gamma l_c(-\Delta z_{\lambda^*}) = \lambda^* \gamma l_c z_{\lambda^*} - \gamma l_c$$

Hence, if we prove

$$(a - \lambda^*)\gamma z_{\lambda^*} - (b + c)l_c(\gamma z_{\lambda^*})^2 + (\gamma - 1) \ge 0,$$
(7)

then

$$\begin{aligned} -\Delta \psi &= \lambda^* \gamma l_c z_{\lambda^*} - \gamma l_c \\ &\leq a(\gamma l_c z_{\lambda^*}) - (b+c)(\gamma l_c z_{\lambda^*})^2 - l_c \\ &\leq a(\gamma l_c z_{\lambda^*}) - b(\gamma l_c z_{\lambda^*})^2 - c(\gamma l_c z_{\lambda^*})^2 - \epsilon \\ &\leq a(\gamma l_c z_{\lambda^*}) - b(\gamma l_c z_{\lambda^*})^2 - c(\gamma l_c z_{\lambda^*})^2 + \frac{(\gamma l_c z_{\lambda^*})^4}{1 + (\gamma l_c z_{\lambda^*})^2} - \epsilon \\ &= a(\gamma l_c z_{\lambda^*}) - b(\gamma l_c z_{\lambda^*})^2 - c \frac{(\gamma l_c z_{\lambda^*})^2}{1 + (\gamma l_c z_{\lambda^*})^2} - \epsilon \\ &= a\psi - b\psi^2 - c \frac{\psi^2}{1 + \psi^2} - \epsilon, \end{aligned}$$

and on $\partial \Omega$,

$$rac{\partial \psi}{\partial n} = \gamma l_c rac{\partial z_{\lambda^*}}{\partial n} < m_{\lambda^*} rac{\partial z_{\lambda^*}}{\partial n} \leq -g(0) - 1.$$

To establish (8) we consider $G(t) = (a - \lambda^*)t - (b + c)l_ct^2 + (\gamma - 1) \ge 0$ for all $t \in [0, \gamma \alpha_{\lambda^*}]$. Notice that $G(0) = \gamma - 1 \ge 0$, $G'(0) = a - \lambda^* > 0$, and $G''(0) = -2(b + c)l_c < 0$. Hence $G(t) \ge 0$ for all $t \in [0, \gamma \alpha_{\lambda^*}]$ if $G(\gamma \alpha_{\lambda^*}) = (a - \lambda^*)t - (b + c)l_c(\gamma \alpha_{\lambda^*})^2 + (\gamma - 1) \ge 0$. This easily follows from the fact that $l_c < K$.

To construct a subsolution $\hat{\psi} > 0$; $\bar{\Omega}$, let $\hat{f}(u) = au - (b + c)u^2 - l_c$. Then \hat{f} is increasing on $[0, \frac{a}{2(b+c)}]$. Since $\gamma l_c \alpha_{\lambda^*} < \frac{a}{2(b+c)}$, there is an $\delta > 0$ such that $\gamma l_c \alpha_{\lambda^*} + \delta < \frac{a}{2(b+c)}$, and $g(\delta) \leq g(0) + 1$.

Now define $\hat{\psi} = \psi + \delta$, then $\|\hat{\psi}\|_{\infty} = l_c \gamma \alpha_{\lambda^*} + \delta$. Also,

$$\begin{aligned} -\Delta \hat{\psi} &= -\Delta \psi \le \hat{f}(\psi) < \hat{f}(\psi + \delta) = \hat{f}(\hat{\psi}) \\ &< a\hat{\psi} - b\hat{\psi}^2 - c\hat{\psi}^2 - c\frac{\hat{\psi}^4}{1 + \hat{\psi}^2} - l_c < a\hat{\psi} - b\hat{\psi}^2 - c\frac{\hat{\psi}^2}{1 + \hat{\psi}^2} - \epsilon, \end{aligned}$$

and on $\partial \Omega$,

$$\frac{\partial \hat{\psi}}{\partial n} = \frac{\partial \psi}{\partial n} \le -g(0) - 1 \le -g(\delta) < -g(\psi + \delta) = g(\hat{\psi}).$$

Thus $\hat{\psi}$ is a subsolution to (1) and it is easy to see that $\hat{\psi} > 0$; $\overline{\Omega}$.

Next, we construct a supersolution. Choose a large constant M > 0 such that $aM - bM^2 - c\frac{M^2}{1+M^2} - \epsilon \le 0$ and $M \ge \hat{\psi}$ for $x \in \overline{\Omega}$. Let Z = M. Then

$$-\Delta Z=0>aZ-bZ^2-crac{Z^2}{1+Z^2}-\epsilon,\ x\in\Omega,$$

and on $\partial \Omega$

$$n \cdot \nabla Z + g(Z) = n \cdot \nabla(M) + g(M) \ge 0.$$

Thus *Z* is a positive supersolution of (1) for $a > a_*$ and $\epsilon < \epsilon^*$ satisfying $Z \ge \hat{\psi}$ and Theorem 2.3 is proven.

References

- [1] H. Amann, Fixed point equations and nonlinear eigenvalue problems in ordered banach spaces. SIAM Rev. 18 (1976), 620-709.
- [2] R. Causey, S. Sasi and R. Shivaji, An ecological model with grazing and constant yield harvesting, Bull. Belg. Math. Soc. 17 (5) (2010) 833-839.
- [3] Ph. Clement, L.A. Peletier, An anti-maximum principle for second-order elliptic operators. J. Diff. Eqs, 34, (1979), no. 2, 218-229.
- [4] Jerome Goddard II, Eun Kyoung Lee, R. Shivaji, Population models with diffusion, strong Allee effect, and nonlinear boundary conditions, Nonlinear Anal. 74 (17) (2011) 6202-6208.
- [5] Jerome Goddard II, R. Shivaji, Diffusive logistic equation with constantyield harvesting and negative density dependent emigration on the boundary, J. Math. Anal. Appl. 4147(2014) 561-573.
- [6] Jerome Goddard II, R. Shivaji, Halo-Shaped bifurcation curves in ecological systems, Elect. J. Diff. Eqs, 2014 (2014), No. 88, 127.
- [7] F. Inkmann, Existence and multiplicity theorems for semilinear elliptic equations with nonlinear boundary conditions, Indiana Univ. Math. J. 31 (2) (1982) 213221.
- [8] Eunkyoung Lee, Sarath Sasi, R. Shivaji, An ecological model with a Σ-shaped bifurcation curve, Nonlinear Analysis: Real World Applications 13 (2012) 634-642.
- [9] Eunkyoung Lee, Sarath Sasi, R. Shivaji, S-shaped bifurcation curves in ecosystems, J. Math. Anal. Appl. 381 (2011) 732-741.
- [10] R.M. May, Thresholds and breakpoints in ecosystems with a multiplicity of stable states, Nature 269 (1977) 471-477.

- [11] I. Noy-Meir, Stability of grazing systems an application of predatorprey graphs, J. Ecol. 63 (1975) 459-482.
- [12] P. Pyle, Age at first breeding and natal dispersal in a declining population of Cassins auklet, Auk 118 (2001) 996-1007.
- [13] J.H. Steele, E.W. Henderson, Modelling long term fluctuations in fish stocks, Science 224 (1984) 985-987.
- [14] Egbert H. van Nes Marten Scheffer, Implications of spatial heterogeneity for catastrophic regime shifts in ecosystems, Ecology 86 (7) (2005) 1797-1807. 8
- [15] J.P. Vincent, E. Bideau, J.M. Hewison, J.M. Angibault, The influence of increasing density on body weight, kid production, home range and winter grouping in roe deer (Capreolus capreolus), J. Zoology 236 (3) (1995) 371-382.
- [16] L.K. Wahlstrom, O. Liberg, Patterns of dispersal and seasonal migration in roe deer (Capreoluscapreolus), J. Zoology 235 (1995) 455-467.

Department of Mathematics, Faculty of Basic Sciences, Babol Noshirvani University of Technology, Babol, Iran e-mail: s.h.rasouli@nit.ac.ir